5.6 - RATE OF CHANGE IN RATIONAL FUNCTIONS

Graph the following functions on one grid.

[image: image18.wmf]1

1

3

)

3

(

1

0

´

+

-

®

=

h

h

      
[image: image2.wmf]2

8

2

)

(

-

-

=

x

x

x

g


1. Graph both on the grid paper below.
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2. When is f(x) = g(x)?  -Use your graph and THEN use algebra to confirm.

3. For each function, when is instantaneous rate of change the greatest for each?

4. For each function, when is the graph decreasing the fastest?  What would be true about the instantaneous rate of change at this point?

5. For each function, when is the instantaneous rate of change the smallest (but still positive)?

6. Use your graph to estimate the instantaneous rate of change of both functions at x=4. Then calculate the instantaneous rates of change at x=4 to see if your estimates were correct.

7. Use your graph to estimate the average rate of change of both functions between x=6 and 10. Then calculate the average rates of change to see if your estimates were correct.

8.    If 
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   , then we can calculate the instantaneous rate of change at x=1 using the difference quotient
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     (find a common denominator)
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           (dividing fractions is the same as inverting and multiplying)

              (cancel out the h on top and bottom)
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                 (sub in h=0)


[image: image16.wmf]9

1

-

=

            

9. Find the instantaneous rate of change of f(x) at x=3 using the difference quotient.
� EMBED Equation.3  ���
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